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function mai n(spreadsheet Report) {
spreadsheet Report. _ol d_onSheet FranmeLoad = spreadsheet Report. onSheet Fr aneLoad;
spreadsheet Report . renoveli st ener (spreadsheet Report. el enSheet Frane, "l oad", spreadsheet Report.
onSheet FraneLoad, spreadsheet Report);
spr eadsheet Repor t. onSheet FraneLoad = function() {
t hi s. _ol d_onSheet FraneLoad() ;
this. el enBheet Frame. style.visibility = "visible";
}
spreadsheet Report. addLi st ener (spreadsheet Report . el enSheet Frame, "l oad", spreadsheet Report. onSheet FraneLoad,
spr eadsheet Report);
spreadsheet Report. __ol d__doRefresh = spreadsheet Report. doRefresh;
spreadsheet Report. doRefresh = function() {
this. el enSheet Franme. style.visibility = "hidden";
this.__old__doRefresh();



	电子表格展示时会出现收缩的一个过程，如何解决

